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% XX
Fs=8000;
%
k=4*Fs;
% XX
xx=randn(k,1);
% XX

% ------ 99 -----

% 99
[090,Fs]=wavread('D:¥MATLAB¥WORK¥sound¥impll.wav');
Lg=500;

%
00=9gg0(291:290+Lg);

% XX ag dd

dd=conv(xx,99);
% XX g9
Pd=dd'*dd/length(dd);
% dd
SNR=60;
% dd SN
nnn=randn(length(dd),1)*10”(-SNR/20)*sqrt(Pd);
% SN SNR
dd=dd+nnn;
% SN SNR

% ----- hh -
L=500;
%
hh=zeros(L,1);
% 0 L*1
09 ----- . aaaas
% 1*k
yy=zeros(k,1);
% 0 k*1
ee=zeros(k,1);
% 0 k*1
eel=zeros(k,1);
% 0 k*1
alp=1;

%

Nrep=length(xx)-L;
%

for ip=1:Nrep;
% ip Nrep
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XXX=xx(ip:ip+L-1);

% XXX
yy(ip)=hh'*xxx;

% XX hh
ee(ip)=dd(ip+L-1)-yy(ip);

% ee

eel(ip)=ee(ip)-nnn(ip+L-1);
hh=hh+alp*ee(ip)*xXxx /(XXX'*XXX);
%
end

%

figure(1)
plot(gg)
hold on
plot(flipud(hh),'r")
%
title(' "

Pee=ee.*ee/Pd;
% ee
Peel=eel.*eel/Pd;
Pee2=conv(Pee,ones(100,1))/100;
%
Pee3=conv(Peel,ones(100,1))/100;

figure(2)
plot(10*logl0(Pee2+107(-10)));
%
axis([0,31000,-140,20])
%

grid

%
ylabel(" [dB]")
title(' D)
hold on
figure(3)

plot(10*logl0(Pee3+107(-10)),'b");
%

axis([0,31000,-70,5])
%

grid
%
ylabel( [dB]")
title(’ D)
hold on
return
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Cif
%

%
Fs=8000;

%
k=60*Fs;

%
tt=1;

%
00=30*Fs;

%
ipO=1+o00-(tt+1)*Fs;
ipl=1+o00-tt*Fs;

%
ip2=1+o00+(tt+3)*Fs;

%

%
[xx0,Fs]=wavread('D:¥MATLAB¥WORK¥SOUND¥xx01.wav');
[ddO,Fs]=wavread('D:¥MATLAB¥WORK¥SOUND¥kyoribetu¥ddsp25.

wav');

xxX=xx0(1:Kk); %xx0 1 k XX
dspl=dd0(38585:k);

%ddo 38501 Kk dspl
dsp2=dspl(ipl:ip2);

%dspl ipl ip2 dsp2
dsp3=dspl(ipO+L:ip2+L);

%dspl ip+OL ip2+L dsp3
%

L=150;

%

hh=zeros(1,L)";

% 1x L

ee=zeros(ip2,1);

% ip2x 1

alp=0.2;

%

%
for ip=ip0:ip2;
%ip ipl ip2
if mod(ip,1000)==0, disp(num2str(ip)), end
% 1000
yy=hh'*xx(ip:ip+L-1);
%
ee(ip)=dspl(ip+L-1)-yy;
%dd vyy
if ip>ipl
hh=hh+alp*ee(ip)*xx(ip:ip+L-1)/(xx(ip:ip+L-1)"*xx(ip:ip+L-1));
%
end
end
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%

%

Pd=dspl'*dspl/length(dspl);
%dspl
eel=ee(ip0:ip2);
Pee=eel.*eel/Pd;
%
Pee2=conv(Pee,boxcar(100))/100;
%
figure(1)
plot(10*logl0(Pee?2));
%
axis([0,14000,-80,20])
%
grid
%

figure(2)
plot(flipud(hh));

figure(3)
plot(dsp3);
hold on
xlabel( ;
ylabel( D)
plot(eel,'r');
hold off

%eel

dmy=input('?');
%

sound(dsp2,Fs);
%dp2

dmy=input('?');
%

sound(eel,Fs);
%eel

return
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